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Solve the colculations to reveal the hidden picture. Esch onswer hs.s a specio[ colour.

Greg:2.4 Pinb:2.6 Bluer 3.6
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Blach: 4.2 White: 5.4
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!.8"2* 1* 3.b = t8*O.2= ).2*t2= O.3x8= L8 x O.2 4"4.6= 0.8"3= Lx2-4= L.Bx2=

2x1..8= 4x4.9= 4.9,4= 1.3x2= ).2*12= A-9x4= 3.1 *24- 1Ox

Q.26 =
O.3"8= 2xL-&=

L8xO"2= 6*O.6= 9x4"4* 2.6x!- 3.1 ,24= 1x 3.b = 2x1.2= 2x1.3= 3.7 x 1-Z = 18x0.2=

4.9x4= 1-8*2= 1x3-6=
O.13 "
2A=

2"1.2= 4"O.9= 0.8"3=
1O*

A"26 =
2*1-2= 4"9,4=

9x4.4= Q.6*6= 4x0.6= 0.8*3= 1x2.4* 4xO.6= 2x!.2= 4x4.6= 2-4xL= 1x3.6=

1*3.6= O.6"9= 2.1 x2= 2x7.2= Q.4x6= 6*A.9=
O.21 *

2Q=
O.8x3= 1x2-4= 4xO.9=

4xO.9* 1"8x3= 3.1 x 54 4xO.6= 2.4 x 1= 2-7 x2= 54xO.1 = 2x1.2- O.4x6= 6xO-6=

1*2.4= 4x0.6= 2x1.2= ?rt.2= 40*
O.O6 =

2"4x3.= 4xO.6= O.8,3= 1x2-4= 1.8"2=

2x1.2=
1Ox

4.26 =
L.3x2=

O.13 x

2A*
4x4"6= O.8x3= 7x2.1+= O.8x3= !x2.4- Lx3-6*

4*O.6= B*O.3= 2.b*L= 7, !.2 = O.4, 6 = 7x1.2= O.4x6= 7, t.2 -
O.O4 "
60=

4xO.9=
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